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TH6F TS HF b PR R (%)
i REHR GER HH REH GEHR| A% RER BEH 48 RER BEX
S = | 1,358 29 11,507 1,347 28 11,478 11 1 29 08 36| 20
® B F X 18 1 19 18 3 20 -2 -1 -66.7 . -5.0
BHE (%) 13 34 1.3 1.3 107 1.4
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EEmEEH| 0 1 0 0 0 0 0 0 0 0 0
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(3) EIIIRANFERR
X4 S 6 & S5 EF I R E (%)
B EER GEHR B8 REHR GER| 4% EER GEHR 68  REHR EEXK
& B £ E &% 18 1 19 18 3 20 52 -1 66.7 | -5.0
B 5 5 6 3 3 2 3 66.7 100.0
g 0 i 2 2 3 3 -1 -1]-33.3 -33.3
= it 7 8 6 6 1 2 16.7 33.3
BEE (%) 38.9 421 33.3 30.0
X E &R 8 9 4 5 4 4 100.0 80.0
h - D 2 1 1 2 1 1
E R % 1 1 6 2 8 -5 7 -7 | -83.3 [-100.0 ' -87.5
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=4 SHM6E S5 E =g 1R (%)
T REK GER 4B REHR GER| 4% RER SEH 4N RER B5EHK
Bl & E &% 18 1 19 18 3 20 52 -1 -66.7 | -5.0
NS £ 1 1 1 1
BEEXER 2 2 2 2
I ES 2 2 2 1 4 -1 -2 -100.0 | -50.0
=B % 6 7 5 7 1 20.0
i H & L EE 5 6 4 4 1 2 250 50.0
HWE £
Bz o # 3 3 -3 -3 /-100.0 -100.0
£t 13 15 14 1 18 -1 -1 -3 -7.1/-100.0 -16.7
EERE 2 1 1 4 2 2 -2 -1 -1 1-50.0 [ -50.0 | -50.0
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(5) LEFAFBEKR
R4 S 6 F S5 EF IR R E (%)
LEEH FEN HER LS5 Y TER SEN |25 BREYN SEH 4By BER 5B
BB & E & 18 1 19 18 3 20 B -1 66.7  -5.0
zE & & 5 6 2 2 3 47150.0 200.0
5 B #F 3 1 2 -3 =] -2 1-100.0 |-100.0 -100.0
o ] 13 1 13 13 2 16 =] -3 -50.0 -18.8
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R4 SH6 & S5 HF 1R B E (%)
LEEH FEN GEN SBEY TEN SEN |25 BREYN SEH 455y TER 5B
BB & E & 18 1 19 18 3 20 B -1 66.7  -5.0
B & & 16 1 17 14 1 18 2 A1 143 5.6
= B 2 2 4 2 2 -2 2 -50.0 [-100.0
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